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Problem Name bikeparking
Time Limit 1 second

Memory Limit 1 gigabyte
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Output
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Constraints and Scoring

1< N <3-10° o
4=0,1,..,.N—1for0 <z;,y, <10° o
Yoty + e tyv1 <xo+T +..tzTy g <107 o

Your solution will be tested on a set of test groups, each worth a number of points. Each test

group contains a set of test cases. To get the points for a test group, you need to solve all test

Group Score

1

16

19
24
32

.cases in the test group

Limits
N =2z, <100,y; <100

z; = z; =y; = y; forallz, j. In other words all the z's and y's in the input are
the same.

zi Y <1
viivyi S 100

No additional constraints.

Examples

Note that some of the samples are not valid input for all test groups. The ith sample is at least

.valid for the ith test group
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The fourth sample is illustrated below. You can assign the users of level 1 to the slot of tiers 0, 0, 3

and 3, leading to 2 upvotes and 2 downvotes. Next, assign the users of level 2 to the slots of tiers

1, 2,3 and 3, leading to 1 upvote and 2 downvotes. This amounts to 3 upvotes and 4 downvotes, so

Tier 0
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Input Output
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111
6 1
101101
110010
=1
118
4
1 0
1000000000
1000000000
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